KEACHI =

@ JbiE M L& SR

@ X\ EA 65, 100, 200,
@ AJE A0 ~70° , (5° I,

W B HRESH R 58 Hl 4 [ 4544

0.005

~0.015

)
T

0.03

— LIREE

— EEiR

L 001~
[
[ ]

B

1 maEm

0.01
~0.03

© b JE FaiF e 64 1) K S e T £.0.005 ~ 0.015,
B IS R M,
O 73k (3% ) di ) A= BR B 49 18] FR Am T £.0.01 ~0.03,

W KEACH)Z51aFNiF /G, FAL

O KEACH) 5 #4877 1%
1, M TO®H TRA®.,
2. MFOHTO,
3. £EFHONO LI L

O KEACH) K Bt 77 i%
1) BB 55 5 ARAR AL
SE N IALA S B e ik LR g 9t
HE AT R B,

ol T X e o bR 2 09 1] FREEAT 22 ) BU A
KRN PP 09 Jp 5 ) AT R B
*UiF . KEBEAS EERESITE EE,



Aerial Cam Unit

[ N\
S
4 ~
B TH4E
_ 65(W) Table of Components
)
© e ZF [ME PRREE
No. Description Qty| Material and
Remark
@ Egazrjjn%lider 1 QT450
&) Cg?w%river 1 QT450
&
@ | ER Loer i) @wse
C) gll?iie Plate 2| 49
® E’%?i:liggletum 2| 45
Follower
® gﬁpﬁng Plate i 49
@ gs:%oﬁfgeuide pin | 1| 214%50
%gfgsiﬁng 1| TL30-125
® E?e?g%r?%ﬂket Head | 4 | M12X25
0l
El&e;g%v?ggket Head | 4 | M12X35
Ol
@) E?eé_a\gﬁgr?%ﬂket Head | 2 | M8X25
[o]
N
T SHILALEIESE
Working”Forcje] kN(tonf) Spring;%%}cje] N(kgf) Selectionof Dowel Pin Hole
2 pEg | e (Wo) Diameter(H7) SANKYO
Travel FREMIA REMIH Total Weight| Catalog No. RE3108
s (10075 &) (3075 ) 0E | #E kg R i | EHRIRR | oo No
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ ;
(one million strokes) (300,000 strokes) Cam Holder
19.6 39.2 165.9 1066.5
26.9 19.5 KEAC |[65|00 10-12-13 SOUK
(2.0) (“.0) (16.9) | (108.9) p—
e 65
") order  (CatEIOGNOJ [(W)]-[(0)]-oos Fh e
v KEAC 65 - 00 - AL
Dowel Pin Prepard hole
KEAC 65 - 00 - HK13 -$HFL13 (H7) L3R Bk
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 - 00 - HDK13 -$HFL13 (H7) BRBhERFN R &

W &Ei¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

r ]
\
~ ~
B FEHR
_ esw) Table of Components
& #®e ERR M@ MR
No. Description Qty| Material and
Remark
@ ?ail?r]?élider 1 QT450
pje
@ Ca?n%river { Qs
® E)Eajrin Holder 1 QT450
C) gléﬁe Plate 2| 45
® E’%E&‘ii%lgla(um 2| 45
Follower
® ?ptﬁng Plate 1 45
@ Eﬁfé Guidepin | 1| 214%50
&'ngiﬁng 1| TL30-125
® ge?g%?%fgkec Head | 4 | M12x25
0l
Ee&;g%r?%ﬂket Head | 4 | M12x35
Ol
(@) ge&;ﬁr%gket Head | 2 M8 X 25
0l
N
SHPLFLIZ IR
T . g
Working”Forcje] kN(tonf) Spring%é%gg N(kgf) Selectionof Dowel Pin Hole
i pEE | g2 |Wo) BT R SANKYO
Travel FRAEMLA SFEMIA Total Weight| Catalog No. ST
s (1007 E) (307) PE “®E kg etk | R | SREER/IREE | catofoo No,
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
27.0 >0 ) i | (e | 198 KEAC |65]05 10-12-13 SOUK
Ordel' |Cata|og Nol | (W) |-|( e )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 05 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 65 - 05 - HK13 - $8FL13 (H7) (L3R Bhk
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 - 05 - HDK13 - $HFL13 (H7) SR BhRFn R &

W #i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver



Aerial Cam Unit

| KEAC65-10

4 N
B AR
Table of Components
2 = R &
< No. Description Q aterial an
= o5 o bt A e
- Remark
@ ?azﬁl%lider U QT450
® Cam Driver 1 QT450
JREE
® Cam Holder U QIE50
&
@ (B2 b 2
® E%?igizggtletum 2 | 45
Follower
® ?p?ng Plate 45
@ ?pﬁfg Guide Pin | 1| @14%50
?g’i’lﬁsﬁﬁng 1| TL30-125
©® geﬁ;g%?%gket Head | 4 M12X25
0l
Ee&;g%r?%ﬁket Head | 4 | M12x35
0l
@ ge&;g%}%gket Head | 2 M8X25
[o]
N
mT 3 SHILALRIESE
Working Forcje] kN(tonf) Spring E§£ N(kgf) Selectionof Dowel Pin Hole
72 pEE | Rge (wo) Diemeter(H7) SAIKYO
Travel FRAEMLIA SEMIH Total Weight| Catalog No. ST
s (10075 2)) (307 ) OE | % kg gtk | RE | EYREE | aiaig No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
316 (12905) (34902) (223;‘720) (1111367_-26) 193 KEAC |65 (10 10-12-13 SOUK
Ordel' |Cata|og Nol | W) | |( e )l |Dowe| Pin Hole Dlameter
KEAC 65 - 10 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -10 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -10 - HDK13 - $HFL13 (H7) SR BhRFnR &

W #i¥& Key Specification

Dowel Pin hole h13(H7)for both holder and driver

KEAC
65




Aerial Cam Unit

r ]
\
4 N
W FAMEE
Table of Components
L‘f,) 65(1,'/) o] escription y REmar
@ E)Eaﬁnjw%lider 1 QT450
@ bami%river 0 RS0
@ | ER \oer | ewew
@ gllﬁie Plate 2| 49
® E’%ﬁjiaggletum 2| 45
Follower
® ?é#pﬁng Plate 1 45
@ ?ﬁfﬁ‘ Guide Pin | 1| 214350
?ﬁﬁﬁng 1| TL30-125
® Eegzgﬁér?%gket Head | 4 | M12X25
0l
ge&;g%r:!ggket Head | 4 | M12x35
Ol
®@ Ee&:g%r?%ﬁket Head | 2 | M8X25
[o]
N
SHILFLE IR
nT . g
Working”Forcje] kN(tonf) Springgsf}cj‘eJ N(kgf) Selectionof Dowel Pin Hole
2 pER | RS (Wle) Diereter{H7) SHKYO
Travel fREMIA REMIH Total Weight| Catalog No. S X1 B
s (10077 ) (07T WE | %E kg i | RE | SERIEE | cataiog No.
Standard Working Force | Allowable Working Force |Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
322 o0 L) o3 | (e | 196 | KEAC |65|15 1012413 SOUK
Ordel' |Cata|og Nol | (W) |-|( e )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 15 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -15 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -15 - HDK13 - $HFL13 (H7) SR BhRFnR &

W #2i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

| KEAC65-20 |

e ~

W FaHR

Table of Components

S ®s B M| MRIEE
= No. Description Qty| Material and
S 851y Remark
) B3
@ ?adnj‘l%lider ]| Qwse
X
@ Ca?]n%river l =0
JERE
® Cam Holder 1 QLY
E
@ B8 o 2| 8
® Ig?’%fiyiileLRﬁleturn 2| 45
Follower
® }Sﬁpjﬁng Plate 145
© ;sﬁpﬁfs Guidepin | 1| @14%50
ﬂcgg?lﬁsgﬁng 1| TL30-125
® ge&ggﬁt;r?%fgket Head | 4 | M12X25
0l
gﬁ&;}gﬂ&%ﬁm Head | 4 | M12x35
Ol
a gﬁ?ﬁ&ﬂm Head | 2 | M8X25
o]
N
mIT SHTLTLERE
Working Forcje] kN(tonf) Spring;%?}cje] N(kgf) Selectionof Dowel Pin Hole
172 LER e w)l(e) Diameter(H7) SANKYO
Travel AT fEMIH Total Weight| Catalog No. REXER
B (10075 ) (3077 ) E “®E kg SR | REEE | BREHSR/IEEE | Catalog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
19.6 39.2 308.1 1137.6
338 18.1 KEAC |65 (20 10-12-13 SOUK
(2.0) (4.0) (31.5) (116.2) KEAC
= 65
Ol'del' |Cata|og Nol | (W) |-|( 9 )|-|Dowelgﬁl¥&l'olﬁe{§ameier
KEAC 65 - 20 - HFLIETL
Dowel Pin Prepard hole
KEAC 65 -20 - HK13 --$HFL13 (H7) {3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 - 20 - HDK13 -$HFL13 (H7) IR BhHRFN R &

Dowel Pin hole h13(H7)for both holder and driver

W $#2i¥[E Key Specification




Aerial Cam Unit

p
\ ]
4 N\
B TR
Table of Components
RE B M| MRmEE
- No Description Qty| Material and
2 Remark
o N
o 65 @ ?airﬂ%lider i QT450
Wy e
@ %a?n%river 1 QT450
® {)Ea)%l Holder 1 Q450
@ gldme Plate 2| 45
® E’%E‘(ji\*l—\éllgelum 2| 45
Follower
® gp*ﬁng Plate 1 45
@ ?ﬁfg Guide Pin | 1| @14%50
A am 1| TL30-125
® Eeﬁgﬁr?%gket Head | 4 | M12x25
0l
Ee;:;g%r?%ﬂket Head | 4 | M12x35
0l
(@) geﬁgﬁr?%gkel Head | 2 M8 X 25
0l
-
nT SHALTLRRE
Workingz‘ForcjeJ kN(tonf) Springgst;%fcjg N(kgf) Selectionof Dowel Pin Hole
e pEE | e (Wo) DerreteriHr) SAIKYO
Travel FRAEMLA REMIA Total Weight| Catalog No. ST
s (1007 ) (307 WE s kg Sanik | REE | SKEER IR | corfio No,
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
350 20 o Brs) | (e | 184 | KEAC |6525 10-12-13 SOUK
Ordel' |Cata|og Nol | (W) |-|( 9 )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 25 - SHFLIEL AL
Dowel Pin Prepard hole
KEAC 65 -25 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -25 - HDK13 - $HFL13 (H7) SR BhRFnR &

W ¥ E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

[ N\
S
4 N
W AR
Table of Components
RS BER H| MREE
No. Description Qty| Material and
Remark
2 -
& @ ?airﬂn%lider 1 QT450
Ss{h/ @ %:Ea?n%river 1] Qr4s0
Z
® éia% Holder 1 QT450
C) ghjéiﬁe Plate 2| 45
. 2| 45
Follower
® gﬁpﬁng Plate 1 45
@ ?ﬁfé Guide Pin | 1| 214%50
oA 1| TL30-125
® F&?ﬁn‘%ﬁket Head | 4 | M12X25
0l
E\]e;/:;g%r?%fgket Head | 4 | M12x35
0l
@) Fe%;g%?%gket Head | 2 M8 X 25
[o]
N
SHPLFLZREIR
nT . /
Workinngorcje] kN(tonf) Springgﬁcﬁ:jg N(kgf) Selectionof Dowel Pin Hole
i BEE | RS |W)|6) Bl SANKYO
Travel FREMIA REMIH Total Weight| Catalog No. RS3TE
s (1005E) (3077) E “®E kg Santk | RE | BB | catafog No,
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
235 47.0 426.6 1137.6
335 17.7 KEAC |[65|30 10-12-13 SOUK
(2.4) (4.8) (43.6) (116.2) KEAC
T 65
Ordel' |Cata|og Nol | (W) |-|( 6 )|-|Dowel gﬁ'ﬁi‘(%{éameter
KEAC 65 - 30 - SHFLIELL
Dowel Pin Prepard hole
KEAC 65 -30 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -30 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

B $2i¥E Key Specification




Aerial Cam Unit

r ]
\
~ ~
B FEEER
Table of Components
% BER g MREEE
No. Description | Qty| Material and
Remark
§ @ E?a?]n%lider 1 QT450
&) bam%river 1 QT450
6\67@ ® J(Eéa% Holder g an<EY
E
@ | BB poie 2| @
® il 2| 45
Follower
® *Sép*gng Plate 1 45
e
2 ?pﬁng Guide Pin | 1| @14%50
gﬁﬁsﬁng 1| TL30-125
® ge&gg%v?ggket Head | 4 | M12x25
Ol
geﬁsgﬁ;r?%fgket Head | 4 | M12X35
Ol
@) Se&ggﬁgr?ggket Head | 2 | M8Xx25
Ol
-
T SHILALRIESE
WorkinngorcjeJ kN(tonf) Springgssﬁi'cje] N(kgf) Selectionof Dowel Fin Hole
12 pEE | K= W) Diameter(H7) SAKYO
Travel o3 ] REMIAN Total Weight| Catalog No. RE3THE
s (100755) (307578]) OE | #E kg Wk | RE | SERIRE )\t Ko
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ :
(one million strokes) (300,000 strokes) Cam Holder
354 (22345) 2‘47 80) &2366"; (11113(; 25) 18.0 KEAC | 6535 10-12-13 SOUK
Ordel' |Cata|og Nol | (W) |-|( 6 )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 -35 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -35 - HK13 +-$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -35 - HDK13 - $HFL13 (H7) SR BhRFnR &

B $i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

| KEAC65-40

4 N
B FHHR
Table of Components
®S B @ MRAnEE
No Description Qty| Material and
Remark
é@ @ bgaﬂnjw%lider 1 QT450
v IR
@ Caiﬁgl:&)river i Qr450
JREE
o ® g:am Holder g G0
% ;
% @ SEIlgﬁe Plate 2| 4
® E’%E{Jiﬁ-gletum 2| 45
Follower
® ?élptgng Plate 1 45
@ gs?pﬁrfsjeuide pin | 1| @14%50
yrd
ok gsépﬁng 1| TL30-125
® E‘lﬁzgﬁ&%ﬂm Head | 4 | M12X25
Io]
Efl&égﬁ&?%fcfkex Head | 4 | M12x35
Ol
@) E\%_a\g%r?%ﬂket Head | 2 | M8X25
[o]
N
mIT WEH SHELFLIZIETE
- Working Forcje] kN(tonf) Spring Eﬁce N(kgf) Selectula:nof DO"":”_I';’)'” Hole WK
1T BE £ |wle)
Trovel HEMIA SIEMIA Total wgght cmfw’ém. R REXE
5 (1007&) (307 HE “®E kg WahiR | RE | SREIBY R |ataiog No.
Standard Working Force | Allowable Working Force |Initial Load | Final Load Cam Driver(Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
235 47.0 355.5 1137.6
429 (2.4) (4.8) (363) (116.2) 16.9 KEAC |65 (40 10-12-13 SOUK
Ol'del' |Cata|og Nol | W) | |( e )l |Dowe| Pin Hole Dlameter
KEAC 65 - 40 - SHFLIELTL
Dowel Pin Prepard hole
KEAC 65 -40 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -40 - HDK13 - $HFL13 (H7) SR BhRFn R &

W #i¥[E Key Specification

Dowel Pin hole h13(H7)for both holder and driver

KEAC
65




Aerial Cam Unit

r ]
\
~ ~
B TR
Table of Components
®E £ Y MRS
No Description Qty| Material and
Remark
@ SEL =
52 @ ?az?n%lider i) ewse
@ -Cairjjn%river 1 QT450
® }éia};gn Holder 1] Qr450
6‘% @ g‘n{‘&&e Plate 2845
7 ® gP%iﬁiiji&e_l'R@eturn 2 | 45
Follower
® ?ptgng Plate 1 45
4
© ?ﬁng Guidepin | | @14%50
%ﬁ%ﬁng 1| TL30-125
® gﬁ?ﬁ&fg@t Head | 4 | M12X25
Ol
Eeéa\gﬁgr?%ﬂket Head | 4 | M12X35
Ol
(@) E?e;:gﬁcjr?%ﬁket Head | 2 | M8X25
Ol
N
SHPLFLIE IR
nT . g
WorkingnForcjeJ kN(tonf) Sy::ringgﬁsﬁ;cjeJ N(kgf) Selectionof Dowel Fiin Hole
32 pER | RS (W) Diameteor(H7) SAKYO
Travel FRAEMTIA RHEMIA Total Weight| Catalog No. REE
s (1007 ) (3077) NE | %E kg ik | RE SRR | oo No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver(Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
465 (22345; E‘47 g)) (3356535) (1111367_-26) 17.4 KEAC |65 |45 101213 SOUK
Ordel' |Cata|og Nol | (W) |-|( e )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 45 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 65 -45 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -45 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W #21¥E Key Specification




Aerial Cam Unit

| KEAC65-50 |

4 N
B EaHR
Table of Components
RS BFR M@ MEEE
No. Description Qty| Material and
Remark
4/8,3@ @ ?aﬁ%lider 1 QT450
©) %:Ea?\i%river 1 Q450
6\’5;17/ ® gﬁa%l Holder 1] @Qraso
Z
C) gld*ﬁe Plate 28 (45
® g%ﬁ‘(]l\*/g lF%Ieturn 2| 45
Follower
® ?Sgip*‘r?ng Plate 1 45
SRS
Q) é!;)%ngﬁ Guide Pin 1 214X50
%ﬁoﬁf?ﬁng 1| TL30-125
©) g;;;gr?ggket Head | 4 | M12X25
0l
E’;&;gﬁ(;r?%gket Head | 4 | M12x35
0l
(@) ge&;ﬁr?%gket Head | 2 | M8x25
{o]
N
SHILFLZ MR
nT ) "
Working”Forcje] kN(tonf) Springgs(;ﬁfcjej N(kgf) Selectionof Dowel Pin Hole
712 pEE | RS (W) Diameter(H7) SAKYO
Travel FRAMIA R¥MIN Total Weight| Catalog No. =5
s (10075 5)) (307578]) NE | %E kg gtk | RE - VEBRIRE ) oiog No
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ :
(one million strokes) (300,000 strokes) Cam Holder
545 (23904) (56808) (33?1851) (1111%7_-26) 16.8 KEAC |65 50 10-12-13 SOUK
Ordel' |Cata|og Nol | (W) |-|( 9 )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 50 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -50 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -50 - HDK13 - $HFL13 (H7) SR BhRFn R &

W $&i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver

KEAC
65




Aerial Cam Unit

4 N
B TR
Table of Components
RS AR i MREE
No. Description | Qty| Material and
Remark
~ @ ?a?n%lider U QT450
2
& ©) Cam Driver 1 QT4s50
® éia% Holder 1] Qras0
E
@ B oo 2| &8
“ ® |BuaE 2| 45
5}4’ Follower
= AL
® ?pﬁng Plate 1 45
@ gsfﬁfg Guide Pin | 1| 214%50
%%ff‘sfﬁng 1| TL30-100
® E\]e&;g%r?%gket Head | 4 | M12X25
Is]
ge&;g%r?%fgket Head | 4 | M12X35
0l
® quégﬁr?%ﬁgket Head | 2 | M8X25
0l
-
SHILFLIZ IR
nT
- Workingj]Forgg kN(tonf) Springgsf'cje] N(kgf) Selectlgnof DOWS_I';)"‘ Hole
1T I<8 = W)|(6) SANKYO
N HREMIN £EMIH Total%gght CatgtlogNo. Wi 388
s (1007 ) (307 ) NE “E kg etk | R | SKEREEE | catofoq No,
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
436 o) o0 &3 | (e | 178 | KEAC 65|55 10-12-13 SOUK
Ordel' |Cata|og Nol | W)l |(e )l |DoweIP|nHoIeD|ame1er
KEAC 65 - 55 - SHFLIELL
Dowel Pin Prepard hole
KEAC 65 -55 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -55 - HDK13 - $HFL13 (H7) SR BhRFnR &

B #i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

| KEAC65-60 |

e ~

B FEHR

Table of Components

Ks BHR M@ PREEE
No. Description Qty| Material and
Remark
BEIR
2 @ bgam Slider 0 QT450
9 -
& @ gcza?n%river 1 QT450
E
® g:a% Holder 1| Qr4s50
R
@ | Siide Piate 2| 8
® F’%ﬂi\%amm 2| 45
5&; Follower
é N
Z ® ;Sép?ng Plate 1] 45
o
@ gs%ﬁng Guide Pin | 1| 214%50
gffﬁ%ng 1| TL30-100
® qu;/:;g%?%gket Head | 4 | M12x25
Ol
ge&;g%r;ﬂ%oﬂ-ket Head | 4 | M12X35
Ol
® qu?g%:%gket Head | 2 | M8x25
{o)
N
p B SHALTLRRRE
Working Forcjt;:l kN(tonf) Spring E§£ N(kgf) Selectionof Dowel Pin Hole
e pEg | ke |Wwle) Diameter(H7) SHIKYD
Travel FREMIA SEMIH Total Weight| Catalog No. RERTER
S (10075 21) (3073 [E]) ME AE kg SR RE | BHR/RE Cataiog No
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ i
(one million strokes) (300,000 strokes) Cam Holder
294 58.8 297.0 1039.5
50.0 17.3 KEAC | 65|60 10-12-13 SOUK
(3.0) (6.0) (30.3) (106.1) KEAC
=7 65
Ol'der |Cata|og Nol | (W) |-|( e )LlDowelﬁnﬂ’Eféameter
KEAC 65 - 60 - SHFLTEETL
Dowel Pin Prepard hole
KEAC 65 -60 - HK13 -$HFL13 (H7) (X BR BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 - 60 - HDK13 - $HFLI3 (H7) IR B fn R &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

r ]
\
4 N
B TR
Table of Components
RS AFR sE| MR E
No. Description Qty| Material and
Remark
® ;C%azg]ni%lider 1| QT4as0
2 IR
<g>\ @ l}Cazgjnial?)river i e
® {%a,rﬁn Holder 1 QT4s0
@ SEhEﬁe Plate 2| 48
® li%ﬁltjitglgletum 2| 45
6‘;\_ Follower
2
- ® ;Sgp*ﬁing Plate i) @
p
@ aséﬁng Guide Pin | 1| 21450
*C%’ﬁiﬁg 1| TL30-100
® qugg%r;!%gket Head | 4 | M12X25
0l
E&Qﬁ&%ﬂkex Head | 4 | M12x35
Ol
(@) E?a?g%r?%ﬁket Head | 2 | M8X25
{o]
N
SHILFLZ R
nT . :
WorkinngorcjeJ kN(tonf) Springgssﬁfcje? N(kgf) Selectionof Dowel Pin Hole
1 pER | K= (W) Diameter(H7) SAKYO
Travel FREMIA REMIH Total Weight| Catalog No. 23188
s (10075 5)) (307578) NE | #E kg Wtk | RE - EBRIRE | g No
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ -
(one million strokes) (300,000 strokes) Cam Holder
473 (2395") fg(g (23%730) 5399(}53 185 KEAC |65 |65 10-12-13 SOUK
Ordel' |Cata|og Nol | (W) |-|( e )|-|Dowel gﬁﬁfﬁ?&amewr
KEAC 65 - 65 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -65 - HK13 --$HFL13 (H7) L3R Bhik
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -65 - HDK13 - $HFL13 (H7) SR BhRFn R &

B #21¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

[ N\
S
4 N
B FEEFR
Table of Components
RS AR g MRAEE
No. Description Qty | Material and
Remark
@ ;C’I%aﬂ%lider 1| QT4s50
& K3
/9\ @ qczadnjw%river 1] Q450
® {.‘,Ea,rgn Holder 1 QT450
C) 5&% Plate 2| 48
@ é%ﬁtjlg lF%Ieturn 2 45
% Follower
2
- ® }Sﬁp*ﬁing Plate i) &
4
© ;sgﬁng GuidePin | 1| 214%50
’é*bﬁ"ﬁaﬁg 1| TL30-100
® Ee?gﬁ;r;!%gket Head | 4 | M12x25
0l
Eel)?gﬁc;r?%ﬂket Head | 4 | M12X35
0l
(@) ge;;gﬁ;r?%gket Head | 2 | M8X25
Ol
N
LALEHEE
nT . !
WorkingZ'ForcjeJ kN(tonf) Springgsc;ﬁfcjej N(kgf) Selectionof Dowel Pin Hole
i pEE | RE (Wo) Diemeter(H7) SAIKYO
Trasve| %’5&’%1@’)’ ’%%%’;’%)” . “ Total llNeight Catalog No. Wtk RE | /R C’r\ﬁi‘l?\‘ﬁ
3 KIE SEBIG ! atalog No.
Standard Working Force | Allowable Working Force lnm*aJ?JLand Final E)ad g Cam Driver|Cam Holder| Cam Driver/ J
(one million strokes) (300,000 strokes) Cam Holder
294 58.8 297.0 891.0
58.5 18.4 KEAC |[65(70 10-12-13 SOUK
(3.0) 6.0) (30.3) | (90.9) p—
T 65
Ordel' |Cata|og Nol | (W) | -|( 9 )l -|Dowel gﬁ'\ﬂi‘%‘é@\mewr
KEAC 65 -70 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 65 -70 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 65 -70 - HDK13 - $HFL13 (H7) SR BhRFn R &

B #2i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

r ]
\
4 N
B TR
Table of Components
=2 = Sk ;‘i
100(W) = Des%r?ﬁtion %t? e
3 Remark
- @ E)gaﬁnjw%lider 1 QT450
IR
©) %az?]ni%river 1 QT450
® ](;Ea};gn Holder [ QIS0
@ gllﬁie Plate 2| 49
® E’%E:Ji?eigletum 2 | 45
Follower
® ?éép*ﬁng Plate 1 45
@ %%ffﬁ‘ Guide Pin | 2 | @14%50
’c?o’ii‘fgs*ﬁng 2 | TM30-175
® gg“;ﬁgr 2 | o22x15
El&;g%}%gket Head | 6 | M12x35
Ol
(@) gﬁggﬁ;v?%ﬂket Head | 2 | M8X25
[o]
a2 Ee%;g%r?%ﬂket Head | 4 M16 X 45
[o]
N
SHILFLIZ IR
nT . !
- Working”Forcje] kN(tonf) Springgsc;ﬁfcje] N(kgf) Selectlgr)of DOW‘?_I';)'” Hole
1772 = - BEE ®E [(W)|(6) SANKYO
Trgsvel %&’%’)’ f%%ﬂ)%)ﬁ - — Total Ilglelght Catalog No. b BE | R/ Cﬁﬂﬁo.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 313.0 2817.0
28.3 (45) (9.0) (31.9) (287.1) 47.0 KEAC |100(00 1213 SOUK
Order |Cata|og Nol | (W) | -|( e )|-|Dowelgﬁ1¥}5'§?§bmz|
KEAC 100 - 00 - SHELIERTL
Dowel Pin Prepard hole
KEAC 100 - 00 - HK13 ~-$HFL13 (H7) 3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 00 - HDK13 - $HFL13 (H7) SR BhR AR &

B #i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

[ N\
S
4 N
W FE4R
Table of Components
W] oot 8] S
R :
- 100w) No. Description Qty Roneark
’ D | B e i) ewsn
©) ECEaizjwi%river 1 QT450
&
® ga% Holder 1 QT450
@ gn’f&% Plate 2| 45
® E’%fi:lit-‘e—"REetum 2| 45
Follower
® gpﬁng Plate 145
@ gsgpﬁfg Guide Pin | 2 | 214%50
gﬁfgsﬁng 2 | TM30-150
® §§E§§r 2 | o22x15
Eiel%a\g%r?%ﬂket Head | 6 | M12X35
Ol
(@) Eie%_;gﬁcir?%cﬂ-ket Head | 2 | M8X25
Ol
@ Ei{égﬁé.{ﬂ%fgm Head | 4 | M16x45
Ol
N
SHILFLIZ IR
T . g
Working”Forcje] kN(tonf) Springgﬁsf;cje] Nikgf) Selectionof Dowel Pin Hole
52 - SR REE | 8 |(W)e) Pt SAIKYO
Trasvel (a 007”5@) (507%@) ol o Totallzlg\;lelght Catalog No. Rtk K b/ Cﬁi)agﬁo.
Standard Working Force | Allowable Working Force | |nitial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 146.4 3074.4
284 47.8 KEAC (100(05 12413 SOUK
(4.5) (9.0) (14.9) (313.3) KEAC
TR 100
Order |Cata|09 NOl | (W) | '|( o )|-|Dowelgﬁ'\¥&m
KEAC 100 - 05 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 100 - 05 - HK13 ~-$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 05 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W #2i¥E Key Specification




Aerial Cam Unit

' KEAC100-10 |

~ ~

B TR

Table of Components

RS AR g MREEE
No Description Qty| Material and
. Remark
= 100w SEL7
S @ bgaz?]n%lider 0 QT450
® -C,aiﬁ%river 1 QT450
TR
® Cam Holder U QT450
R
@ |Siide Plate 2|45
® | 2| 45
Follower
® ?Séptgng Plate 1 45
B
@ gSgpring Guide Pin 2 || o
?ﬁﬁﬁng 2 | TM30-150
@ (§%% 2 | e22x15
E?e%gﬁ;r;ﬂ%fgket Head | 6 | M12x35
Ol
@ Eiqe%;g%r?ggket Head | 2 | M8X25
Ol
@ geﬁégﬁéﬁfgkex Head | 4 | M16x45
[o]
-
mT SHALTLERE
Working Forcje] kN(tonf) Springgsfcje] N(kgf) Selectlgr)of DPW\?_";)'" Hole
1T <8 =) W)|(6) SANKYO
T HEMLS ML Total%ﬁght Cat;E)gNo. e REXIE
s (10075 E)) (R0 HE | #E kg B | RE | ERIEEE | aiaiog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 146.4 3074.4
33.3 (45) (9.0) (14.9) (313.3) 449 KEAC |100(10 12413 SOUK
Order |Cata|og Nol | (W) | -|( e )|-|Dowel gﬁﬁi‘%‘é@\mewr
KEAC 100 - 10 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 100 - 10 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 10 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W %% & Key Specification




Aerial Cam Unit

| KEAC100-15 |

4 N
B TR
Table of Components
= &
JOO(W) fl\\}? Des%rflg\tion %t% Material a'nd
- Remark
o) 3
‘t-ni @ lCami;élider 1 QT450
©) %)za?%river L QT450
JREE
® g:am Holder [ QT450
E
@ | B oo 2| 45
® gF'%iﬁiyi&e_l'Rliletum 2| 45
Follower
® %l‘pt:‘?ng Plate i @
SR
@ Spring Guide Pin 2 | 214X50
e 2 | TM30-150
® §$f§r 2 | 022%15
Ee;:gﬁt;r?%oﬂc-ket Head | 6 | M12X35
0l
(@) ge%:gﬁ(;r?%fgket Head | 2 | M8X25
[o]
(&) g’!?e%:gﬁ(;r?%ﬁket Head | 4 | M16x45
o]
N
MmIA SHTLTLERE
Working Force kN(tonf) Spring;%?}cje] N(kgf) Selectionof Dowel Pin Hole
2 pEE | RS (W) Diameter(7) SAIKYO
Travel FRAEMLA REMIN Total Weight| Catalog No. REXTER
s (10077 ) (30771) OE | %E kg Sk | RE SRR \aoiog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver(Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 146.4 3074.4
33.9 4741 KEAC (100(15 1213 SOUK
(4.5) (9.0) (14.9) (313.3) KEAC
R 100
orger  [C2EOGNO] [(W)] - [(0)] fons B ]
KEAC 100 - 15 - SHFLIELL
Dowel Pin Prepard hole
KEAC 100 - 15 - HK13 -$HFL13 (H7) L3R Bhik
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 15 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

B #i¥[E Key Specification




Aerial Cam Unit

r ]
\
4 N
B FEHEFR
Table of Components
KRS BER #E PR E
No. Description Qty| Material and
Remark
3 ooy, D | B iger 1] gy
o
“ ©) bazrjjn%river 1 QT450
® éﬁa}%n Holder 1 QT450
@ gn’f&% Plate 2| 45
® E’%fi:lit-‘zREetum 2| 45
Follower
® gpﬁng Plate 145
@ gsﬁfg Guide Pin | 2 | 214%50
gﬁﬁsﬁng 2 | TM30-125
® gs%fé?ir 2 | o22x15
gl\l%\lg%v?%ﬂket Head | 6 | M12x35
Ol
® gﬁé_;gﬁé.{!%fgm Head | 2 | M8x25
[o]
(@) Eie?gﬁcir?%ﬂket Head | 4 | M16x45
[o]
N
SHPLFLIZ R
nT . !
WorkinngForgeJ kN(tonf) Spring;%?}cje] N(kgf) Selectionof Dowel Pin Hole
712 pEE | K= (W06 Diameter(H) SAKYO
Travel FRAEMLA RHEMIN Total Weight| Catalog No. RS3IE
s (10075 E)) (07T DE | %E kg ik | RE | SERIRE o7 No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver(Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
309 E‘f;) (39302) (1177592) (23907485‘) 448 KEAC (10020 1213 SOUK
Ordel' |Cata|og Nol | (W) | -|( e )|-|Dowelgﬁ\¥hm
KEAC 100 - 20 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 100 - 20 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 20 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

| KEAC100-25 |

4 N
B FEHR
Table of Components
®s BER g PR E
No. Description Qty| Material and
Remark
2 D | B er 1| Qraso
o Z -
° oo(“’) ©) %Ea?n%river 1] QT450
® rCEalrEn Holder 1 QT450
@ gn’f&% Plate 2| 48
® E’%fi:lif-eTREetum 2| 45
Follower
® gpﬁng Plate U] @
@ ?ﬁfﬁ Guide Pin | 2 | 214%50
e 2 | TM30-125
® §§E§gr 2 | e22x15
Ee&a\g%r?%ﬁket Head | 6 | M12X35
Ol
(@) E?a&_;gﬁcﬁ%ﬂket Head | 2 | M8X25
Ol
(@) Ee;;gﬁcir?%ﬂket Head | 4 | M16x45
Ol
-
LILEHEE
nT . d
WorkingnFomjeJ kN(tonf) Springgs?}cje] N(kgf) Selectionof Dowel Pin Hole
iR pEm | ge (We) Borwat !, SAKY0
Travel RAEMTIA REMIA Total Weight| Catalog No. REXER
s (1007 ) (3075m) ME s kg Sank | RE | SKEER R | riog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 175.2 2978.4
32.0 (4.5) (9.0) (17.9) (304.0) 46.5 KEAC (100|25 1213 SOUK
KEAC
e 100
Ordel' |Cata|og Nol | (W) | -|( 9 )LlDowelﬁ'ﬁi‘M
KEAC 100 - 25 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 100 - 25 - HK13 - $HFL13 (H7) (IR BhHR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 25 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W §21%[E Key Specification




Aerial Cam Unit

' KEAC100-30 |

4 N
L ESiits
Table of Components
RS B S PRAnEE
No Description Qty| Material and
Remark
® E%a?]n%lider 1 QT450
2 L
:% ® Cairjjn%river 1 QT450
P ® E\Prin Holder [ QnEY
o, z
K @ glaﬁe Plate 2| 48
® E’%ﬁﬁiggR@etum 2| 45
ollower
® *Sép?'}ing Plate 1 45
§
@ %%%ngeuide pin | 2| @14%50
g’iilﬁgsiﬁg 2 | TM30-125
® g&%ﬁér 2 | o22x15
gﬁ?ﬁggket Head | 6 | M12x35
0l
(@) Ee&e\lg%v?%fgket Head | 2 | M8X25
Ol
@ Ee&a\g%v?%gket Head | 4 | M16x45
Ol
N
SHILFLZHEIR
nT . /
WorkingnForczeJ kN(tonf) Springgst;ﬁfcjeJ N(kgf) Selectionof Dowel Piin Hole
i sER | RS (W) Diameter(H7) SANKYO
Travel FRAEMTIA SFEMIA Total Weight| Catalog No. RS
s (1007 E) (3077) E “E kg ek || RE | BB | ohfog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
335 5) ) {75 | Gosoy | 4 KEAC [100 30 12413 SOUK
Ordel' |Cata|og Nol | (W) | -|( 9 )|-|Dowel gﬁﬁi‘(%?éameter
KEAC 100 - 30 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 100 - 30 - HK13 - $HFL13 (H7) (L3R BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 30 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W %% & Key Specification




Aerial Cam Unit

| KEAC100-35 |

4 N
B TR
Table of Components
Ks BER #HE MR E
No. Description | Qty| Material and
Remark
> @ Egazjnjw%lider U QT4s0
b I
” ® ?Zairjrjﬁie)river U QT450
100(/,,/ ® {:Ea% Holder 1| Qras0
7
@ gllﬁﬁe Plate 2| 49
® E’%E:%ER@etum 2 | 45
Follower
® aﬁng Plate 0 45
@ ?ﬁfﬁ‘ Guide Pin | 2| @14%50
lﬁ:;o’ii’fgsiﬁng 2 | TM30-125
® g&tﬁgr 2 | o22x15
Ee&;g%nmggket Head | 6 | M12x35
Ol
(@) Eegzgﬁgr?%gket Head | 2 | M8X25
Ol
(&) Ee;;gﬁt;r?%oﬂc-ket Head | 4 M16 X 45
Ol
-
SHILTLZ MR
T . !
WorkinngForcjeJ kN(tonf) Springgsaﬁfcjej N(kgf) Selectionof Dowel Pin Hole
7% e P RER | RS (W)6) S 2 SAKYO
Tr%vel (100%@) (:1507?@) i o Totalllglelght Catalog No. Witk K e/ I Cﬁ;ﬂ%jﬂo.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 175.2 2803.2
354 454 KEAC (100( 35 1213 SOUK
(4.5) (9.0) (17.9) (286.1) KEAC
= 100
Ordel' |Cata|og Nol | (W) | -|( 9 )|-|Dowel gﬁ'ﬁi‘(%{[%ameter
KEAC 100 - 35 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 100 - 35 - HK13 - $HFL13 (H7) (IR BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 35 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W #2i¥E Key Specification




Aerial Cam Unit

' KEAC100-40 |

4 N
B FE4R
Table of Components
RS AR g MRAnEE
No Description Qty| Material and
Remark
@ Ega?]n%lider 0 QT450
E;@ @ E)airjjn%river 1| Q1450
R
® éﬁa}%n Holder U QT450
E
@ | B8 b 2|45
B I
00”17 ® Egﬁ‘i)tx:rRetum 2 | 45
® ?Séptr?ng Plate 1 45
e
@ gsgpﬁng Guide Pin | 2 | 214%50
%ﬁfﬁﬁg 2 | TM30-125
® |EFR 2 | e22x15
ge&;gﬁgr?%fgket Head | 6 | M12X35
o]
@ ge&;gﬁgr?%gket Head | 2 | M8X25
Ol
@ E\]e%\lg%r?ggket Head | 4 | M16x45
Ol
-
SHPLFLZ ISR
nT . d
Working”Forcje] kN(tonf) Spring%é%gg N(kgf) Selectionof Dowel Pin Hole
1 BEE | RS W) Bl SANKYO
Travel FRAEMLA SFEMIA Total Weight| Catalog No. RS
s (1007 (307E) HE “®E kg antr | RE | BER/EEE | atiog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 175.2 2803.2
39.0 (45) (9.0) (179) (286.1) 40.8 KEAC |100(40 1213 SOUK
Ordel' |Cata|og Nol | (W) | -|( 9 )|-|Dowelgﬁ\¥lh'(%?§ameter
KEAC 100 - 40 - SHFLIEL L
Dowel Pin Prepard hole
KEAC 100 - 40 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 40 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W ¥ E Key Specification




Aerial Cam Unit

| KEAC100-45 |
S
4 I
B EAB R
Table of Components
RS B & MREEE
No. Description Qty| Material and
Remark
D | B2 er il | @w=Ey
2 e
5;2: @) ?Zazﬁ‘li%river 1] Q450
® {Zﬁa}rgn Holder (N} cEa0
@ gléﬁe Plate 2| @
£2 @ E%fil]ii"égtletum 2 45
0079 ;;;;wer
® Spring Plate i %
@ ?ﬁfg Guide Pin | 2| 214%50
%ggilﬁsiﬁng 2 | TM30-125
® §£ﬁ%r 2 | e22x15
ge&;ﬁr?%ﬂket Head | 6 | M12X35
0l
(@) Eie?gﬁ;r?%gket Head | 2 | M8X25
0l
(@) Eie?gﬁ;r%gkel Head | 4 | M16Xx45
0l
N
LILEHEE
T . d
Workingnlgorge) kN(tonf) Springgs?}cje] N(kgf) Selectionof Dowel Pin Hole
12 HER ke wl(e) Diameter(H7) SANKYO
Trgsvel %ﬁ&u_}l@j)l %#o%%)ﬁ . " Total IlNeight Catalog No. Wtk RE | /R C’rttFT—'wNﬁ
3 3 SEBIG 5 ! atalog No.
Standard Working Force | Allowable Working Force |niti§'|ufoad FianIE)ad e Cam Driver|Cam Holder| Cam Driver/ 9
(one million strokes) (300,000 strokes) Cam Holder
441 88.2 175.2 2803.2
423 e o5 e | b | 47 | kEAc |100]45 12413 SOUK
KEAC
o= 100
orey  [CEE0GNO] [(W)]-[(0)] - B,
KEAC 100 - 45 - HFLIRERL
Dowel Pin Prepard hole
KEAC 100 - 45 - HK13 --$HFL13 (H7) {23R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 45 - HDK13 -$HFL13 (H7) IR Bhkdn R &

Dowel Pin hole h13(H7)for both holder and driver

B §21¥[E Key Specification




Aerial Cam Unit

r ]
\
4 N
B FiExR
Table of Components
®s BER @ PREnEE
No. Description Qty| Material and
Remark
D | B e i ewse
oK
D @ réazrjjnijlé&)river 1 QT450
S
“ ® E\% Holder L QT450
@ gn’f&% Plate 2| 45
® E’%fi:lit-‘e—"REetum 2| 45
Follower
> :
oo@, ® gpﬁng Plate 1 45
7 S
@ Spring Guide Pin 2 | 214350
gﬁfgsﬁng 2 | TM30-125
® §§E§gr 2 | o22x15
Ee&a\g%r?%ﬁket Head | 6 | M12X35
Ol
@ Ee?g%ﬁ%ﬂket Head | 2 | M8X25
[o]
®@ E?el)?gﬁ;r?%ﬁket Head | 4 | M16x45
[o]
N
SHILTLB MR
nT . /
WorkingnForcje] kN(tonf) Springgssﬁfcje7 N(kgf) Selectionof Dowel Pin Hole
e pEE | RE (W0 DemmeteriHT) SANKYO
Travel HRAEMTIA REMIA Total Weight| Catalog No. RSTER
s (1007 ) (307) WE | #E kg S | RE | SERIEE | ozioog No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
49.0 98.0 175.2 2803.2
46.7 (5.0) 10.0) (17.9) (286.1) 41.2 KEAC |100(50 1213 SOUK
Order |Cata|09 NOl | (W) | '|( e )|'|Dowe|ﬁ?}h‘%
KEAC 100 - 50 - SHFLIELL
Dowel Pin Prepard hole
KEAC 100 - 50 - HK13 ~-$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 50 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

[ N\
S
4 N
B TR
Table of Components
rs BER M| MRmEE
No. Description Qty| Material and
Remark
D | BB er i) Gw=ew
©) EiClzaiﬁ'li%river 1 QT450
4‘,3@ ® éﬁa% Holder { SESU
@ ghf?e Plate 2| @
® E%?iﬂi"éll%tum 2| 45
Follower
® g:lip?ng Plate i) 4
2, @ ?pﬁfg Guide Pin | 2| @14%50
2,
7 o e 2| TM30-125
® §$ﬁ§r 2| e22%15
Ee&;g%r?%ﬁket Head | 6 | M12X35
0l
(@) Eie;:g%?%gket Head | 2 | M8X25
0l
@ E‘l?ﬁ.{%fgkez Head | 4 | M16X45
0l
-
SHILTLZ MR
nT . /
WorkingnForcjeJ kN(tonf) S,::ringgssﬁfcje7 N(kgf) Selectionof Dowel Pin Hole
12 pER | K= (W) Diameter(H7) SANKYO
Travel FEMTIA REMIN Total Weight| Catalog No. RE3T0
S (10077 20 (3075 @) HE KE kg S RE | R/ Cataiog No
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/ i
(one million strokes) (300,000 strokes) Cam Holder
49.0 98.0 175.2 2803.2
52.3 44.0 KEAC |100|55 1213 SOUK
(5.0 (10.0) (17.9) (286.1) KEAC
= 100
orer  [CaEI0OGNO] [(W)]-[(0)]-fon PR,
KEAC 100 - 55 - SHELTSATL
Dowel Pin Prepard hole
KEAC 100 - 55 - HK13 --$HFL13 (H7) IR BhtR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 55 - HDK13 - $HFL13 (H7) BRBhRFNE &L

Dowel Pin hole h13(H7)for both holder and driver

B #2i¥E Key Specification




Aerial Cam Unit

' KEAC100-60 |

4 N
B FEpER
Table of Components
RS BER @ MRAnEE
No Description | Qty| Material and
Remark
@ E?a?]n%lider l QT450
IR
@) Cam Driver L QT450
TR
Q2 ® gam Holder 1| Qras0
S
S
E
@ | B8 b 2|
® E’%ﬁ:JiER@etum 2| 45
Follower
® *Sép?'}ing Plate 1 45
4
%, @ %épﬁng Guide Pin | 2| @14%50
2,
2
2 o 2 | T™30-125
® ggﬁ’gr 2 | o22x15
ge;;gﬁ&?%gket Head | 6 | M12X35
0l
(@) Se&e\lg%v?%ﬂket Head | 2 | M8X25
Ol
@ g’l\l&a\g%r?%ﬂket Head | 4 | M16x45
Ol
-
T SHALTLRRRE
Working Forcje] kN(tonf) Springgssﬁi'cje? N(kgf) Select|%r_10f D?W?_Irf in Hole
{12 . . pEE | g2 (W6) lameter(Hr) SAKYO
Trasvel ({g{%:ﬂj)a %457%:@[”71 . " Total Q/Veight Catalog No. Ehk BE | sah R | SR
Standard Working Force | Allowable Working Force |niti§ijfoad FinéTE)ad e Cam Driver|Cam Holder| Cam Driver/ (Catalog No-
(one million strokes) (300,000 strokes) Cam Holder
49.0 98.0 175.2 2803.2
60.0 (5.0) (10.0) (17.9) (286.1) 425 KEAC (10060 1213 SOUK
orger  [CaEIOGNO] [(W)]-[(0)]-fon PR,
KEAC 100 - 60 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 100 - 60 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 60 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W ¥ E Key Specification




Aerial Cam Unit

| KEAC100-65 |

e ~

B TR

Table of Components

Ks BER @ PRnEE
No Description Qty| Material and
Remark
@ i)gairjjn%lider l QT450
Eie
® Caﬂnj'li%river 1] Qr450
cﬁ’@ ® E\% Holder 1 QT450
E
@ | B8 b 2| 4
® E’%ﬁjiaggletum 2 | 45
Follower
® ?éépt}ing Plate 1 45
4
\)%,2 @ gs:%ﬁnsj Guide Pin | 2 | @14%50
-~
%go’ﬁ*ﬁng 2 | TM30-100
® gg““)ﬁgr 2 | o22x15
ge&;g%r?gf]c‘ket Head | 6 | M12x35
Ol
(@) Ee&a\gﬁ;v?%ﬂket Head | 2 | M8X25
Ol
a2 Eeé-‘—a\gﬁt;r?%ﬂket Head | 4 M16 X 45
Ol
-
mT SHTLTLERE
Working Forczg kN(tonf) Spring%?}cje] N(kgf) Selectionof Dowel Pin Hole
i pEE | K2 (W0 BiameicriLi) SANKYO
Travel fREMIA REMIH Total Weight|Catalog No. RSIHE
s (10075 5)) (307 M) ME “E kg BapiR | EEE | BRERSR/IEE | ¢ atafio No.
Standard Working Force | Allowable Working Force | Initial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
49.0 98.0 548.0 2740.0
47.3 43.0 KEAC (10065 1213 SOUK
(5.0) (10.0) (55.9) (279.5) KEAC
TR 100
Ordel' |Cata|og Nol | (W) | -|( 9 )LlDowelﬁ'?l&E‘[%ameter
KEAC 100 - 65 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 100 - 65 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 65 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W &i¥[E Key Specification




Aerial Cam Unit

' KEAC100-70 |

- ~
W TEHR
Table of Components
KRS BER g MREnEE
No. Description Qty| Material and
Remark
@ Egaarjjn%lider U QT450
Bk
©) Cazjnjwi%river U QT450
2
N ® }éia};gn Holder 1] @wse
@ gll?iie Plate 2| 49
® E’%?iyiggletum 2| 45
Follower
® g{)ﬁng Plate i) 69
4
Y @ §S¥p§n§ Guide Pin | 2| @14%50
2z
?o’ﬁﬁsifng 2 | TM30-100
® g&tﬁér 2 | o22x15
Se&;g%v?%ﬂket Head | 6 | M12x35
Ol
(@) Eegzgﬁt;r?%oﬂc-ket Head | 2 | M8X25
[o]
@ éﬂe?a\g;ﬁ(;r?%?c-ket Head | 4 | M16x45
[o]
-
mIHh SHALTLRSEE
Working Force kN(tonf) Springgsffcj;J N(kgf) Selectionof Dowel Fiin Hole
G T A () () DerneterHT) SAIKYO
Travel FREMIA REMIH Total Weight| Catalog No. RSB
s (10075 ) (307 ) ME “®E kg SR | REEE | BEERR/IREE |ataiog No.
Standard Working Force | Allowable Working Force | nitial Load | Final Load Cam Driver|Cam Holder| Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
58.5 50 100) %59 | Gros) | #18 | KEAC [100]70 1243 SOUK
Ordel' |Cata|og Nol | (W) | -|( e )|-|Dowelgﬁ\¥!!i‘(%?§ameter
KEAC 100 - 70 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 100 - 70 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 100 - 70 - HDK13 - $HFL13 (H7) SR BhRFOR &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

[ N\
S
4 N
B TR
Table of Components
(% AR e hﬁmi_ulﬁ;zd
R 200(W) No Description Qty aﬁgﬂ?aﬁ("
o) .
° B e 1| HT00
K
2 Cazjnjwi%river 1 HT300
B
9 gza}% Holder 1 Rz
E;
4 | BB b 2| 8
5 gF'%iﬁiyi&e_l'R@etum 2 | 45
Follower
=
6 Spring Plate 1 45
4
v ;S!;ﬁngﬁ Guide Pin 4| 214x50
URERSE
8 | Coil gsépring 4 | TM30-175
9 gét?er 4| 922x15
10 E?e&ggﬁ(;r?%gket Head | 6 | M12X35
Ol
11 E?e%;gﬁ(;r?%ﬁket Head | 2 M8 X 25
Ol
12 ge%g%?‘%fgket Head | 8 | M16x45
Ol
-
HTLAL R LR
Woming”g(ije]kmzonf) Spring%z%cje]mkgf) Se'e“'g'i‘;’rfn[e’fe"rvg_"%'" Hole
1782 = 5 BhES RES KRS (W)(e) SANKYO
Travel FREMTH SAEMIA Slider Weight | Total Weight | Catalog No. i e | RS
s (1005 5) (307578} E | #E ko kg R | R BHRIRE | atiog No.
Standard Working Force| Allowable Working Force|Initial Load|Final Load| am Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 626.0 | 5634.0
28.3 (10:0) (20.0) (638) | (574.2) 25.7 81.5 KEAC (20000 12-13-16 SOUK pr—
=7 200
Ordel' |Cata|og Nol | (W) | -|( e )|-|Dowel gﬁ'ﬁi‘(%{[%ameter
KEAC 200 - 00 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 00 - HK13 - $HFL13 (H7) (L3R Bhk
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 00 - HDK13 - $HFL13 (H7) SR MR &L

Dowel Pin hole h13(H7)for both holder and driver

W $2i¥E Key Specification




Aerial Cam Unit

' KEAC200-05 |
4 N
W FEMR
Table of Components
RS BER g MEdngEE
No. Description Qty| Material and
= 200(w) Remark
g B iser 1| HTs00
IR
2 Catﬂmi%river 1| HT300
JREE
9 Cam Holder { SIS0
E
4 | BB b 2| 48
5 E%ﬁ]i%lgemm 2| 45
Follower
6 gﬁp*ﬁng Plate 1 45
S
v Spring Guide Pin 4| 214x50
U2 g
8 | Coil ES!}:)ring 4 | TM30-150
9 §§;§, 4| o22x15
10 E&gﬁr?%gket Head | 6 | M12x35
0l
11 E;&;g%r%ﬁket Head | 2 | M8x25
0l
12 Eie%;g%r;!%gket Head | 8 | M16x45
0l
N
SHELFLZHEAE
Workingngc%cjeJkN(tonf) Spring;%(%cje]N(kgf) Selectl%?:rfn Bz)evrv(e'_li;’)m Hole
1718 " BREE BER RS |(W)|(6) SANKYO
Travel REMIA REMIH Slider Weight | Total Weight | Catalog No. RETER
s (1007 ) (3077m) WE | #E kg kg R | o B | BHRIIEE | aaiog No.
Standard Working Force| Allowable Working Force|Initial Load| Final Load| Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 292.8 | 6148.8
28.4 (10.0) (20.0) 29.8) | (6266) 30.4 82.3 KEAC [200| 05 12-13-16 SOUK
orger  [CaEI0OGNO] [(W)]-[(0)]-fon PR,
KEAC 200 - 05 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 200 - 05 - HK13 - $HFL13 (H7) (L3R BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 05 - HDK13 - $8FL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W $i¥[E Key Specification




Aerial Cam Unit

[ N\
S
4 N
B FEEFR
Table of Components
rs B s MREnEE
No Description Qty| Material and
Remark
@ S
) 200w i ?airﬂn%lider i) e
IRZhHR
2| Gam Driver 1 HT300
JREE
3 Cam Holder 1 HT300
JER
4 |Side Plate 2| %
5 |iEhn 2| 45
Follower
£}
6 gp)briing Plate 1 45
HEY
v §¥p§n§ Guide Pin | 4 | 214%50
e
8 %goil gsgpﬁng 4 | TM30-150
0 el 4| o22x15
10 El%z;g%r?%gket Head | 6 | M12x35
0l
1 El&;g%{!%ﬂkec Head | 2 | M8X25
0l
12 ge;’:a‘ug%%ﬂket Head | 8 | M16Xx45
0l
N
Workingn%c?kmmnf) Springg%ﬁ;jej N(kgf) Se'e“‘g'i‘:rfngfe"rv(ﬂ;’)i" Hole
1718 — 5 BRER RES KRS [(W)|(e) SANKYO
Travel FREMTIA REMIH Slider Weight | Total Weight | Catalog No. RETEB
s (1007 E1) (30758 WE | #E kg ko WA | o EE | EERIREE | ataiog No
Standard Working Force| Allowable Working Force|Initial Load| Final Load| Cam Driver | Cam Holder | Cam Driver/ |
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 292.8 6148.8
333 o) e s | tas| 27 757 | KEAC [200/10 12-13-16 SOUK e
T 200
Ord |Cata|og Nol | (W) | - |( e )|-|Dowel gﬁ'ﬁi‘(%{éameter
KEAC 200 - 10 - SHFLIELTL
Dowel Pin Prepard hole
KEAC 200 - 10 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 10 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

B $i¥E Key Specification




Aerial Cam Unit

' KEAC200-15 |

~ ~

B FGEER

Table of Components

RS ZFR HE MRAnEE
No Description Qty| Material and
Remark
T Bk
8 200y, ! Cairjjn i:lider | e
K
2 Cam Driver i Y
R
8 Cam Holder 1 HT300
i
4 |Siide Plate 2| 48
5 E’%ﬁtjlv% Eeturn 2| 45
Follower
R
6 Spring Plate 1 45
&
v %%%ng Guide Pin | 4| 21450
42 e E
8 | ol Spring 4 | TM30-150
9 g(’;ff&r 4| o22x15
10 gel%}g%r?%gket Head | 6 | M12x35
Ol
1 Eeggﬁc;r?%gket Head | 2 | M8X25
Ol
12 qu%a\gﬁ;r?%gket Head | 8 | M16x45
Ol
N
LFLRHEE
nT : -
WorkingnForcjeJkN(tonf) Springg%(%cjeJN(kgf) SelectloD?;)rfn Igtoev;r(el-l‘ 7F’)m Hole
1778 - : BRER | MER ®S (W)|(6) SANKYO
Travel FREMIA REMIH Slider Weight | Total Weight| Catalog No. REXE
s (10077 8)) (307 NE | #%E kg kg Wapth | RE | BHRIEE | catiog No.
Standard Working Force| Allowable Working Force||nitial Load| Final Load| Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 292.8 6148.8
33.9 (10.0) 20.0) (298) | (626.6) 304 80.5 KEAC [200( 15 12-13-16 SOUK
Ord |Cata|og Nol | (W) | - |( e )|-|Dowel gﬁﬂi‘(%{éameter
KEAC 200 - 15 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 15 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 15 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥[E Key Specification




Aerial Cam Unit

| KEAC200-20 |

4 N
B FEpHEFR
Table of Components
RS ZFR M| MRAEE
No. Description Qty| Material and
Remark
2 ! éga?'n%lider i RvEeo
] Wantk
200(14/) 2 Cam Driver 1 HT300
R
9 Cam Holder i e
E
4 | BB o 2| 48
5 E’%ﬁ]isglgletum 2| 45
Follower
AR
6 Spring Plate 1 45
S
4 Sipring Guide Pin 4| 214x50
U2 g
8 | Coil gsﬁpring 4 | TM30-125
9 §;ﬁ§r 4| 022x15
10 ge&gﬁr%gket Head | 6 | M12x35
0l
11 Hex;gor?%ﬁket Head | 2 | M8X25
Bolt
12 qul)/:;g%r;!%ﬂket Head | 8 | M16x45
le]
N
TR
Workingbl-golm?kN(tonf) Springg%(%cjej N(kaf) Se'ed'g’i‘;’;[e’;’e"rvg_";’)'" Hole
1718 = 5 BRER RER KRS [(W)(e) SANKYO
Travel FREMIA REMIAH Slider Weight | Total Weight | Catalog No. S3458
S (100755) (0RTE) OE | #E kg kg Szhy RIEE | SEEREHE | Do No
Standard Working Force| Allowable Working Force|Initial Load| Final Load| Cam Driver | Cam Holder | Cam Driver/ '
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5956.8
30.9 (10.0) 20.0) {35.8) | (607.9) 245 46.1 KEAC [200(20 12-13-16 SOUK
Ord |Cata|og Nol | (W) | -|( 9 )|-|Dowel gﬁﬁi‘%‘é@\mewr
KEAC 200 - 20 - SHFLIELTL
Dowel Pin Prepard hole
KEAC 200 - 20 - HK13 ~-$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 20 - HDK13 - $HFL13 (H7) SR BhRFn R &

W $2i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver

KEAC
200




Aerial Cam Unit

' KEAC200-25 |

4 N
W FAER
Table of Components
RS BER @ MEdngEE
No. Description Qty| Material and
Remark
BER
& | B R er | e
b 1
v 2 Cairﬂn%river 1 HT300
200
1 JREE
K 5 Cam Holder { L0
E
4 | BB b 2| 4
5 ;%ﬁ]i%lg‘etum 2| 45
Follower
6 gp*ﬁng Plate 1 45
S
v Spring Guide Pin 4| 214%50
U2 g
8 | Coil gsﬁpring 4 | TM30-125
9 §;ﬁ§e, 4| 022x15
10 E’L&Sgﬁ;'r{!%gkec Head | 6 | M12x35
0l
11 E’;&;g%r?%gke( Head | 2 M8 X 25
0l
12 E;&;g%r?%gket Head | 8 | M16x45
0l
N
L
WorkingnIE(}cje] kN(tonf) Springg%fcje]N(kgf) Se'w'g'i‘:rfngfe"y(ﬂ;’)'” Hole
1718 — - BHhER RER KRS [(W)|(e) SANKYO
Travel FREMIA REMIAH Slider Weight | Total Weight | Catalog No. S 3488
S (10075 ) (307578]) WE | #E kg k9 TR | B o | BRI | 200 No.
Standard Working Force| Allowable Working Force|nitial Load| Final Load| Cam Driver [ Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5956.8
320 (10.0) 20.0) (35.8) | (807.9) 304 80.1 KEAC (200 25 12-13-16 SOUK
Ord |Cata|og Nol | (W) | -|( e )|-|Dowel gﬁﬁi‘%‘é@\mewr
KEAC 200 - 25 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 25 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 25 - HDK13 - $HFL13 (H7) SR BhRFnR &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

| KEAC200-30 |

4 N
B FEHR
Table of Components
rs B s MRENEE
No Description Qty| Material and
Remark
L fairﬂn%lider i e
2 i
:? 2 Cam Driver 1 HT300
JREE
3 Cam Holder 1 HT300
o, iR
/ 4 |Siide Plate 2|
5 |iEln 2| 45
Follower
£}
6 gp)briing Plate 1 45
£
v é*,ﬁné Guide Pin | 4 | 214%50
e
8 %go" gsgpﬁng 4 | TM30-125
0 |lelke. 4| o2x15
10 El%;g%r?%ﬂket Head | 6 | M12x35
0l
1 E;&;g%r?%ﬂket Head | 2 | M8X25
0l
12 ge;’:a‘ug%%ﬂket Head | 8 | M16Xx45
0l
N
LRI
Workingj"lgticzz7 kN(tonf) Springg%(%cje)N(kgf) SelectloD?;)rfn [;g;r(il‘ ;)ln Hole
1718 — = BhES RER RS [(W)(e) SANKYO
Travel fREMIA REMIAH Slider Weight | Total Weight | Catalog No. REER
s (10075 5)) (05 E) uE | #E ko ko WK | calRE o | EARIEE | atiog No.
Standard Working Force| Allowable Working ForceInitial Load| Final Load Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5606.4
335 (10.0) 20.0) 3.8) | (5722) 28.1 77.0 KEAC (200] 30 12-13-16 SOUK
Ord |Cata|og Nol | (W) | - |( 9 )|-|Dowel gﬁﬁi‘(%{éameter
KEAC 200 - 30 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 200 - 30 - HK13 - $HFL13 (H7) (L3R Bhk
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 30 - HDK13 - $HFL13 (H7) SR BhRFnR &

W $2i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver

KEAC
200




Aerial Cam Unit

r ]
\
- ~
W TR
Table of Components
RS BER M| MREE
No. Description Qty| Material and
Remark
! ?atﬁ%lider ! HII300
Q) Z
L IRZhER
& 2 Cam Driver i Fi1300
JREE
3 Cam Holder { WIET
E
*’oo% 4 (BR e 2| 45
7 o
5 |ERAR . 2| 45
Follower
6 ?ptriing Plate 45
SR
v éﬁﬁng Guide Pin | 4| @14%50
W
8 | Coil gsgpring 4 | TM30-125
9 §éﬁ§r 4| 022x15
10 Ee&é\lg%r?%ﬂket Head | 6 | M12x35
0l
1 ge&;ﬁrﬁgket Head | 2 | M8X25
0l
12 E;{;;g%r?%gket Head | 8 | M16X45
0l
N
HTLFL R
Workingnlgolmje]kN(tonf) Springg%ﬁ:je] N(kgf) SelectlBri\:rfn Bg;/(e'_lrf')m Hole
f1i2 ; BRER | MERE | RS (W)((0) SANKYO
Travel FREMTIA REMIAH Slider Weight | Total Weight | Catalog No. RETE
s (1005 E) (307 E) WE | «E kg kg A R | BB RREE | o oaico No,
Standard Working Force| Allowable Working Force]Initial Load| Final Load| Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5606.4
354 (10.0) (20.0) 35.8) | (5722) 30.9 80.9 KEAC [200] 35 12-13-16 SOUK
Ord |Cata|og NO | | (W) | |( 9 )l |Dowe| E’ﬁ'\ﬂl‘ole Diameter|
KEAC 200 - 35 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 35 - HK13 - $HFL13 (H7) (L3R BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 35 - HDK13 - $HFL13 (H7) SR BhBRANE &L

B #i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

| KEAC200-40 |

4 N
B TR
Table of Components
(A5 B #@ MEAnEE
No. Description Qty| Material and
Remark
"B iser 1| HTa00
= IRBhHR
6& 2| Cam Driver 1| HT300
-
R
3 Cam Holder { LISo0
E
4 | BB b 2|
5 |AHER., 2| 45
Follower
<2
KC %, 6 gp*gng Plate 1[4
S
7 | Spring Guide Pin | 4 | 21450
UZ e
8 | Coil ;S%)ring 4 | TM30-125
9 §éﬁ§, 4| o22x15
10 ge&gﬁr%gket Head | 6 | M12X35
0l
11 ge%g%?%fcrket Head | 2 M8 X 25
0l
12 E’é&éﬁ%ﬂm Head | 8 | M16X45
0l
N
WorkinngIEoIrcje] kN(tonf) Spring;%z%cje]N(kgf) SelectloD?;)rfn [;;)ev;/(el-li%m Hole
1718 — = BRES RES KRS (W)|(6) SANKYO
Travel FREMT S SAEMLSH Slider Weight | Total Weight | Catalog No. RER
s (10077 ) (3077 NE | #E kg kg BAR | o FE | EARIEE | ctog No.
Standard Working Force| Allowable Working ForceInitial Load|Final Load Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5606.4
39.0 (10.0) 20.0) (35.8) | (5722) 28.8 714 KEAC [200( 40 12-13-16 SOUK pr—
o 200
Ord |Cata|og Nol | (W) | -|( 6 )|-|Dowel gﬁ'ﬁi‘(%{éameter
KEAC 200 - 40 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 40 - HK13 - $HFL13 (H7) (IR BhHR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 40 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

B #i¥& Key Specification




Aerial Cam Unit

r ]
\
4 N
B TEHR
Table of Components
RS BER M@ MREE
No. Description Qty| Material and
Remark
L ?atﬁ%lider ! HII300
Q IRZhHR
é-? 2 Cam Driver 1 HT300
JREE
3 g:am Holder 1 HT300
JE:
4 |BR b 2|
2, . 2| 45
% Follower
6 ?ptriing Plate 45
SR
v éﬁﬁng Guide Pin | 4| 214%50
IS
8 | Coil ;S¥pring 4 | TM30-125
9 §é’t’$§r 4| o22x15
10 Ee&é\lgr?%gket Head | 6 | M12x35
0l
1 ge&;ﬁrﬁgket Head | 2 | M8X25
0l
12 E;&;ﬁr?%gket Head | 8 | M16X45
0l
N
SHTLFLIZMER
WorkinngIEoIrcz)J kN(tonf) s;;ring;§%<§cjeJ N(kaf) Se'ed'g'i‘:rfn[e’fe"r”(?_";)'" Hole
i7i2 = .y BREE RER KRS (W)(e) SANKYQ
Travel AT REMI N Slider Weight | Total Weight | Catalog No. K348
s (10075E) (3075 AE | #E kg kg aptk | TRE | EHRIEE | caiog No.
Standard Working Force| Allowable Working Force|Initial Load| Final Load Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
98.1 196.2 350.4 | 5606.4
423 (10.0) (20.0) (358) | (572.2) 309 747 KEAC |200|45 12-13-16 SOUK
Ord |Cata|og Nol | (W) | -|( 9 )|-|Dowel gﬁﬂi‘(%{éameter
KEAC 200 - 45 - SHFLTShTL
Dowel Pin Prepard hole
KEAC 200 - 45 - HK13 -$HFL13 (H7) L3R BhiR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 45 - HDK13 - $HFL13 (H7) SR BhRFn R &

B #i¥E Key Specification

Dowel Pin hole h13(H7)for both holder and driver




Aerial Cam Unit

| KEAC200-50 |

e ~
B FH 4R
Table of Components
®E w2 |mE MEmEE
No Description Qty| Material and
Remark
L ?airﬂn%lider i HT300
K
> 2 Cairﬂn%river 1 HT300
N
S R EE
@ 3 | Cam Holder ] RuEeo
E
4 | B o 2|
5 |EmAE . 2| 45
Follower
6 %lp??ng Plate 1 45
<2 HED
"Of,t v é*ﬁné Guide Pin | 4| 21450
2
R e B
8 | Coil Spring 4 | TM30-125
g Saian 4| 022x15
10 E%;g%r?%ﬂket Head | 6 | M12x35
0l
1 gelgégﬁ;'r{’%ﬂkec Head | 2 | M8X25
0l
12 E;;':Sgﬁgr%gket Head | 8 | M16Xx45
0l
-
SHPLFL R
Workingﬂl-golmz]kN(tonf) Springg%ﬁ:je:l N(kgf) Selectl%ri\:rfn Btoevrv(e'_li%m Hole
1782 — 5 BREE REE S |(W)|(6) SANKYO
Travel FREMTIA REMIAH Slider Weight | Total Weight | Catalog No. o e s | CSAE
3 (10073_.@) (3075@) %”E . A kg kg Cam Dri C EH Id Cam Di i o Catalog No.
Standard Working Force| Allowable Working Force|Initial Load| Final Load| am Driver | Cam Holder | Cam Driver;
(one million strokes) (300,000 strokes) Cam Holder
17.7 235.4 3504 | 5606.4
46.7 (12.0) (24.0) 358) | (572.2) 31.0 71.6 KEAC [200( 50 12-13-16 SOUK —
= 200
Ord |Cata|og Nol | (W) | -|( 9 )|-|Dowel gﬁ'ﬁi‘(%{éameter
KEAC 200 - 50 - SHFLTEATL
Dowel Pin Prepard hole
KEAC 200 - 50 - HK13 - $HFL13 (H7) (IR BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 50 - HDK13 - $HFL13 (H7) BRBhBRANE &L

Dowel Pin hole h13(H7)for both holder and driver

W $2i¥E Key Specification




Aerial Cam Unit

' KEAC200-55 |

4 N
W FEM4R
Table of Components
RS BHR g MRdnEE
No. Description Qty| Material and
Remark
BEIR
! Egam Slider i HT300
IRZhHR
2 Cam Driver 1 HT300
2 EE
& 9 Cam Holder { HT300
E
4 Slki*ﬁé Plate 2145
5 E’%ﬁyis%lgletum 2| 45
Follower
AR
6 Spring Plate 1| 45
. B
%@’ v é%)ring Guide Pin 4 21450
Z
eSS
i Bt 4| TM30-125
iR
9 | Shopper 4| @22x15
10 E%Qg%ggket Head | 6 | M12X35
0l
1 ?e%;g%r?%ﬂket Head | 2 | M8X25
le]
12 ge&;g%r?%gket Head | 8 | M16x45
0l
N
LR
Workingnlgc-;lr:cje]kN(tonf) Spring;%(%cje] N(kgf) Selecﬂ%ri\:rfn Ig?evrvﬁ_li 7F’)m Hole
1718 — " BRES RES KRS (W)|(6) SANKYO
Travel FREMIA REMIH Slider Weight | Total Weight | Catalog No. RETEB
s (1007 E)) (307E) WE | #E kg kg Bapp | RE SRR | oo No.
Standard Working Force| Allowable Working Force|Initial Load| Final Load| Cam Driver [ Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
17.7 235.4 350.4 | 5606.4
52.3 (12.0) (24.0) 358) | (5722) 34.8 78.6 KEAC [200]| 55 12-13-16 SOUK
Ordel' |Cata|og Nol | (W) | -|( e )|-|Dowelgﬁ\¥|!|'(%1§ameter
KEAC 200 - 55 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 55 - HK13 - $HFL13 (H7) (L3R BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 55 - HDK13 - $HFL13 (H7) SR BhBRANE &L

Dowel Pin hole h13(H7)for both holder and driver

W $i¥[E Key Specification




Aerial Cam Unit

| KEAC200-60 |

4 N
B FEHR
Table of Components
re B @ MREE
No Description Qty| Material and
Remark
L ?airﬂn%lider i HT300
oK
2 I!Cairj"ni;tlsriver 1 HT300
9 FEHE
& 3 Cam Holder i LIENT
E
4 | B o 2|
o |eiEln 2| 45
Follower
6 ?ptﬁing Plate 1 45
£
. v é*;ﬁné Guide Pin | 4| 21450
0.
%, 8 %gg"zasﬁﬁng 4 | TM30-125
g | Sam 4| o2x15
10 qul%égﬁér?%ﬂke( Head | 6 | M12x35
Ol
1 ge&;ﬁr%gket Head | 2 | M8X25
0l
12 E&a\ugﬁéggket Head | 8 | M16Xx45
0l
N
WorkingjjIEoImje]kN(tonf) Springg%z%cje]N(kgf) SelectioDr;:rfn [;;)ev;/(el-li%in Hole
172 i I 2 (wle)
Travel FREMT S LML Slliﬁe%\%e%m Total%%ght Catefltlgg?No. a2 $e0 @%"5}3;;
s (10077 ) (30758 E | #E kg kg BAR | o FE | EIRIEE | catoiog No
Standard Working Force| Allowable Working Force|Initial Load|Final Load Cam Driver | Cam Holder | Cam Driver/ -
(one million strokes) (300,000 strokes) Cam Holder
17.7 235.4 350.4 | 5606.4
60.0 (12.0) (24.0) 3.8) | (5722) 32.1 73.9 KEAC [200| 60 12-13-16 SOUK
KEAC
o= 200
Ord |Cata|og Nol | (W) | -|( e )|-|Dowel gﬁ'\ﬂi‘%‘é@\mewr
KEAC 200 - 60 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 60 - HK13 - $HFL13 (H7) (L3R BhR
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 60 - HDK13 - $HFL13 (H7) BRBhBRANE &L

Dowel Pin hole h13(H7)for both holder and driver

B #i¥E Key Specification




Aerial Cam Unit

r ]
\
4 N
W Fa 4R
Table of Components
RS AR g MRmEE
No. Description Qty| Material and
Remark
' iser 1| HTa00
IRZhHR
2 Cam Driver 1 HT300
2 R
q‘?\ 3 | Cam Holder 1| HT300
E
4 | BB o 28(845
5 |ERAR., 2| 45
Follower
6 ?p*gng Plate 145
S
7| Spring Guide Pin | 4 | 214%50
2 iEE
9:% 8 | Coil ;S¥pring 4 | TM30-100
9 §C’E§, 4| 022x15
10 gelgégﬁé'r{!%ﬂkec Head | 6 | M12x35
0l
11 ge&;g%r%gket Head | 2 M8 X 25
0l
12 E;I%;g%r%ﬂket Head | 8 | M16X45
0l
N
LA
Workingﬂlgc%cjejkN(mnf) Spring%fcz.] N(kgf) SelectloDr;;)rfn Bgavy(?-ll 7F’)m Hole
p— 5 ,;g, g |wle)
e EMLS SEMIH Slliﬁe%\%e%ht Total%%ght CathENo. (We) @":”ﬁﬁ.’a
s (1007 51) (3077E1) ME | 25 | ko ko TR ol e | IR |2 iog No
Standard Working Force| Allowable Working Force|Initial Load|Final Load Cam Driver | Cam Holder | Cam Driver/ g No-.
(one million strokes) (300,000 strokes) Cam Holder
473 (1112? 07) (22345(;‘) 2%%68‘; (554589000) 302 772 | KEAC [200]65 12-13-16 SOUK
Ordel' |Cata|og Nol | (W) | -|( 6 )|-|Dowel gﬁﬁi‘%‘é@\mewr
KEAC 200 - 65 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 65 - HK13 - $HFL13 (H7) (L3R Bhk
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 65 - HDK13 - $HFL13 (H7) SR BhRFn R &

Dowel Pin hole h13(H7)for both holder and driver

W #i¥E Key Specification




Aerial Cam Unit

[ N\
S
4 N
B TR
Table of Components
RS BFR g MEAngEE
No. Description Qty| Material and
Remark
! Ega?'n%lider i el
IR
2 Catltf]ni%river i)tz
o@ ,E@
N 9 Cam Holder { GIsoe
E
4 Slid*ﬁe Plate 21145
5 E%E{Jis"élgletum 2| 45
Follower
AR
6 Spring Plate 1 45
S
2 4 Sipring Guide Pin 4| 214x50
2 9y
2 8 ﬂgﬁgﬁng 4 | TM30-100
9 §;ﬁ§r 4| 022x15
10 E’L&Sg%r{!%gkec Head | 6 | M12x35
0l
11 E;&;g%r?%ﬂket Head | 2 | M8x25
0l
12 Eie&;g%r?%ﬂket Head | 8 | M16x45
0l
N
LR IR
WorkingjjIEoIrcje]kN(tonf) Spring%z%cje]N(kgf) SelectloD?;)rfn [;g;r(il‘ ;)ln Hole
1718 " BRES RES KRS (W)|(6) SANKYO
Travel h’ -3/ M| REMIH Slider Weight | Total Weight | Catalog No. REFE
S (005 E) GoRTE) WE | #E kg kg i IREE | SEERIIEEE | 2 No.
Standard Working Force| Allowable Working Force|Initial Load|Final Load Cam Driver | Cam Holder | Cam Driver/
(one million strokes) (300,000 strokes) Cam Holder
17.7 235.4 1096.0 | 5480.0
58.5 (12.0) (24.0) (111.8) | (659.0) 28.8 72.2 KEAC [200| 70 12-13-16 SOUK —
200
Ord |Cata|og NO | | (W) | |( e )l |Dowe| E’ﬁ'?Hole Diameter|
KEAC 200 - 70 - SHFLTSETL
Dowel Pin Prepard hole
KEAC 200 - 70 - HK13 - $HFL13 (H7) (IR Bhk
Dowel Pin hole h13(H7)for cam driver only
KEAC 200 - 70 - HDK13 - $HFL13 (H7) BRBhBRANE &L

Dowel Pin hole h13(H7)for both holder and driver

W $2i¥E Key Specification






